f\ Honors Chemistry Review Chapter 11

Find the density of ammonia at STP.
What is the mass of 750. ml of sulfur dioxide at STP?
What 1s the volume of 125 g ofbu_tane at 27 ° Cand _780. mm Hg? ) Tiboal Eas levird
Find the pressure exerted by 0.635 moles of oxygen if it occupies 325 ml at p
50.0°C. | (3%7)
What is the molar mass of a gas if .71 g occupies 560. ml at 22° C and 740. mm? /ha/dv%ium‘(g
Ammonia reacts with oxygen to make nitrogen and water. What volume of
oxygen is needed to produce 414 ml of nitrogen at STP?
7. What mass of hydrochloric acid must be reacted with calcium carbonate to make :
50.0 ml of carbon dioxide at 24 °C and 1.15 atm? Gas 5755)&4:
8. Calbon dioxide reacts with calcium oxide to make calcium carbonate. How many
grams of calcium carbonate can be formed from 50.0 L of a mixture of gases that
1s 53.0% by volume carbon dioxide at STP?
9. How many liters of hydrogen chloride can be made by reacting 15.0 L of
hydrogen with 12.0 L of chlorine at STP? -
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